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Part A :General Intelligence & Reasoning

From the given alternative words, select the word which
cannot be formed using the letters of the given word.

rrfafRT Rt & & ag uee gfRT S R o0 e

3 SFETY ST TN X TE AT S W |
VENTURE

A)RENT B) TRUE

C) TURN D)RATE

If *+' means 'x, "' means '+ ', '’ means '—' and '+ ' means

'+ then the value of the given equation is :
q%o_‘_ua;rm 'x|%-’ o ﬂml+l%', %' a;ra."?frl_' g'
IR+ w7 I+ A Tl g F A

T g

9+8+8—-4x6="7

A)1l B) 65
C)68 D)36

Directions / I3 A series is given with one term
issing. Out of the four alternatives, choose the
Y/iernative that will complete the series.

v g RATé fFaH v 95 g ¢| B v ar
Ryl # & ag RFeT gAT 57 HHH F T |

Question Nos.3 to 4
T FEAT3I T 4T

3)

4)

5)

ACE, GIK, 2 ,SUW, YAC

AMOQ B)MPQ
C)MOP D) MNP
2,5,10,17,26,2
¥ 48 Xt 39 ann
A)37 B)35
Fa
C)38 D)33
Find the missing number from the given responses.
g arw Rt & oo ST AT BT |
4 8 2
3 2 2
5 8 2
60 128 68
A)l3 9)17
C)15 D)19
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6) A man facing south turns to his left and walk lm
28N he

turns to his right and walk 15m, again he turns to hj

) 0 h
and walk 5m and then he tumns to his left and walk“; ;?:l
In which direction he is facing now? '

Ueh Safa STATOT frem i 3R I ek @er ¥, 7 Iy
T HZ F 10m TelaT & TR AT ST 73 7 15m
oIl &, AT 9 379 970 73 X Sm Torar & 3 i
I8 Y ST HS Y 15m T & | 39 §AT I8 e
oo & 7 = war §?

A) South B) West

gfaror gfYaH
C)North D) East
< 3 EC]

7)  Find the number of triangles in the adjoining figure.

FeraeT 3Tpfar #F st r S A R
Question Figure / ¥¥ Jgfa
A F D
A |
1 ul 5 J
L 5
B H c
A)16 B)20
C)18 DM14
Question Nos.8 to 11

T FEar8 & 11 3%

Directions / 3% Select the related word / letters / ~
number from the given alternatives.

R v faweyl & & GFia g/ JERI/ G&ar #t
gaa

8) 8:512:9:7

A)728 B)729
C)781 D)792
g) ADIP:DGLS :: BEJQ:?
A)FINU B)EJQU
9EHMT D) CGLS
10) AUTHOR:PEN:DOCTOR:___
a@a:;ﬂa::g‘fm:
A)HOSPITAL B) DISPENSARY
HEqdrer B pices
C)STETHOSCOPE D) WARD
BRI ars
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1) POLIIE : ETILOP ..
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A)DRAOB : BROAp

C)CHART : TRACH ISINGL,
One Or tWo statemenys EN OM4

Conclusions / Asg . € giv

the statement to b:]:lrﬁtem:i’ I and Ilﬁ_rl ki
from commonly known. fac“;: If it see
the given conclusiong / u ou'ar 0
drawn from the given Statemen':lptmps
Statement: No man is g 4oy, lndwatey
Conclusions: nkey. Rahy jg
I Rahul is not a donkey

II. All men are not Rahui

© A&t variance
eCide Which of

eflnite]y be
Our answer,
aman,

/Wﬁlsﬂrumiﬁﬁmﬁaﬁ
m%ﬁ:m&:mgm%m‘
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14) From the given answer figures, select the one in which the
question figure is hidden / embedded.

& 77& e FpiadT & A 38 3ca Hh A AT

foraet we i AR 81
Question Figure /¥ gl
|
|
L
Answer Figures | ST srgfe
T T e
i
e
A) B) C) D)

If a mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure ?

aﬁma&wﬁwmwmma‘ram&ﬁ

15)

il | AT AP S FeHell & | 3t Wﬁﬁaﬁaﬁra@ﬁrmmaﬁmﬁ
e A Tafee. A | e gr
TFAEY ;. IS N AT T 7§ | TgA & Question Figure / T 3
=Fd ¢ | | v
| Cib 0 __}_)
o

| UG T TET &~ P
II. e safed B A& ¢l ;
A) Only Conclusion I B) Neither Conclusion I Answer Figures | e smpimf

follow. nor Conclusion II follow. 1\ s = 4\

Faa sy 1 faeerdr 7 o s 1 AR A e N —t=> e i ——

[+ ]

¥ & 11 foveoren € | —— —— —— —
C)Only Conclusion 1l 9 Either Conclusion Tor 9) B) C) D)

follow Conclusion 11 follow. —

e f;ﬁ Ersad 1 a1 1L forerct Question Nos.16 to

i I §%AT 16 ¥ 18 TF
foveerar ¥ | &l Directions / A& Find the odd number / letters /
: i ’ rds from the given alternatives.
i the basis of certain system wo giv ;
. g?::ieoz(tlut}}llt;o:;naé;S:I:::iro?or the unsolved equation on faw av el # & RryH q&ar / R / eq gﬁ-?("
that basis. /
g |38
Wﬂﬂﬁﬁﬁﬁqﬂrﬁfﬁv‘sﬂﬂﬂﬂﬁm i
T 3cal qia ¢
YRR 7 RRT AT TR 5
9x6x 2=§; g x 6 x 5=568, % 4x1? 'A_)KILOMETRES B) KILOGRAMS
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C)415 -
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LU m%
22) IfNAME is coded as MZLD, how will CLAIM 4,
1 RO =LAIM be ¢oq
n A afé;NAMEEF’TMZLDﬁg#ﬁ'@THIHT%a‘rC -
e ) -LA_]M_E{-'.}
HHKNQ B)DEG] e =l 3 forar smean « (
LIS 3
C)YZBE D) QRTW A)BKZII B)BKYHL
18) C) BKZHL D)B
Fl_ ) BKZHI
A)154 B) 119 23) Which one of the following diagramg
- ) relationship among; epresents the
C)8s D) 51 Fruits, Mango, Banana
19)

A picce of paper is folded and cut as shown el i
question figures, From the given answer figures, indicate
how it will appear when opened.

WWW?’!%@?WW%W
P T Tt & ane; e ey 3eeig SRy ST
Raré &am

Question Figure / weg gl

O

Answer Figures / 3o

20) Which one of the given responses would be a meaningful
order of the following?
1. Family 2. Community
4. Locality 5. Country

3. Member

et et & & Sler-ar frere 3 Ry g oreet @7

T FH eAar g 2

LaRarR 2. §aEE 3. 9eEy

«

4 Ageam 5.

A)3,12.45 B)3,1,2,5.4
C)3,1,4.2,5 D)3,1,4,5,2
P

21) The age of father is twice that of the elder son, After ten
years, the age of father will be three times that of the
younger son. If the difference of ages of the two sons is
15 years, the age of the father is ?

R &t 3G a2 qT A G Y | s g R 4
a)tga‘#ﬁg;ﬁg’ramﬁ | FfE At At r 3 A 15

a&a?raim?a‘rﬁarﬁsﬂgﬁmﬁ%?

A) 70 years B) 55 years
70 a% 55 9§

C) 60 years D) 50 years
60 9% 50 %

TR 4 3 471 31 B oy & g

24)

T A XMar o
&, A, Far
A) B) C) Jo)

A word is represented by only one set of numbers as given
in any one of the alternatives, The sets of numbers given
in the alternatives are represented by two classes of
alphabets as in two matrices given below. The columns
and rows of Matrix | are numbered from 0 to 4 and that
of Matrix II are numbered from 5 to 9. A letter from these
matrices can be represented first by its row and next by its
column, e.g., 'A' can be represented by 00,44, etc., and P’
can be represented by 56,79 etc. Similarly, you have to
identify the set for the word ZEST.

U 31eq, el Ueh HEAT-THE SR a2iar arar &, skar
o Taremet 2 @ Relr wep 2 e amar ) vt o Ry
T HEAT-HHE &R & 2 aoif g@nr gzfie o s
T e Rrw aTw &Y 3mreggt # &) mewg | & we sk
e oy G 0 9 4 & o ¥ 3R 3regE 1 A s R
HTeHET | U 38R &I Tgol 3T 9T ik ag &
TAFH AT SART ETT ST TRl § | 3eTeor &
'A' @I 00,44, 311E SART GRATAT ST el § TP &Y
56,79, 37Tfe; SR AT ST Fevelm & | 33 ¥ & HTTH
wo9sT H foU Areg ZEST & ToT Wofg I ggan=ien g

Matrix-1 Matrix - I
e -1 3“3‘1'&'-“9

0[1]2[3][4 SIS 115
o[a[R[B[C[E| [S[KIPITILIM
1[T[H[S[E[R| [SIXWIZAZ
Z/R|IE|H|D|S F|I LW
3/S/D[T[O]|C 3GNF;;L
3 E|B|O[R[A 9pr.
B)98, 13,30, 10

A)89, 13, 03,01

04
C) 89, 31, 30,01 D) 98, 13,33,

N-2062/12
A 371(10)
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2 610 W & : WeaTes afrer
AR2017 -4254
W 30) By selling a coat for Y630, a shopkeeper gains—f;/:;\
L 4 the cost price of the coat ? 3l
Pa B : Numerical Aptituce e AR Y T 630 3 U HIE AT TR 5% a7 sy
: B R1aT & | T I AR Hed A HITAT |
. invests
26) P invests 79100 for 3 months, Qr a business: If the A)T 650 B)X 625
months and R 28190 for 5 months 1n fit should Q
total profit amounts t0 g 4158, how much pro C)% 600 D)X 700
get ? T ;
#p 3 FiE H FATI100, Q 2;:[75&‘5'1?1'(’ 31) Tw'o varieties of sugar are mixed together in a certain
fefit RN — i ¥ Iz ratio. The cost Of. thf: mixture per Kg is ¥0.50 less than
76325 3N RSAE S 8 forder &3¢ that of the superior "and ? 0.75 more than the inferior
— SR z4IssEAQ ﬂmmﬁ'ﬂm variety. The ratio in which ‘the superior and inferior
varieties of sugar have been mixed is:
aifge? et r & AT @Y R AT # v |y e
A)T 346.50 B)R 693 ST &) Fsor 9fy Kg amere 3= hife r et
1386
€)% 682.50 DR aTa & 20.50 A § 3R afear D Hr e 82075

27) A contractor has the target of completing 2 wodcdit 49 O & | g @R $r el iR aftar e & e

1
days. He employed 20 persons who completed ( /4) of e W#ﬁ%ﬂ‘éﬂ??’

the work in 10 days and left. The number of persons he
has to employ to finish the remaining part as per target 1S JA)2:3 B)5:1

T 18| 36 C)5:2 D)3:2

o TS

T SHEIT T 8T 40 e H FH T
; # 1
20 cafFeEt Y T T A T gt 10 fast Ja 32) P, Qand R can do a piece of work in 60 days, 100 days
A 937 AT AT oEFE T AT 3 3T 8 F and EO d;ys respe;tively. They together work to finish the
work and receive T 2256.Then P will get?
HTAR AT FTH B e 3 Fore et cafadl &1
e - P, Q 31 R ot e a1 haer: 60 i, 100 et 31T 80
mwméiau ? .
R 7 7 T ) 3 F9 T T FA o [T Ao
B) 40 . .
420 ) T S & 3T T 2256 SO I §, AT P e T
D) 10
el ) qIe B9 ?
28) The average of three numbers of which greatest is 16 is _
12. If the smallest is half of the greatest , the remaining A)T 960 B aie
number is: C)? 564 D) 752

e ATt T FoveTe T a2 HEAT 16 8, AT 12F : :
33) A box contains oneé rupee, fifty-paise and twenty-five

paise coins. The total number of coins are 378. The ratio

uﬁmmaﬁmﬂmﬁﬁawmw
g of values of the above coins is 13 : 11 : 7. The number of
twenty-five paise coins was:
A)12 B) 14 e it 3 oo W, S 3 25 4 & R
C)8 D) 10 Pyt i T T 378 & | SR ot & Aol
29) A person covers a certain distance in 6 hours, if travels at AT 13: 117 & o A9y & Forarent Fr @&

40 Km/ hour. If he has to cover the same distance in 4 e

hours, then his speed must be: Tl

fe Fré eafFT 40 fraeeT widreer Hr aifa ¥ amar A) 132 B)78

A & o $S & 6 6 v H o7 T § | A 3W C)210 D) 168

4 S A el il

& qlr s arfey et ghelt =i 34) The Selling price of a radio was 3255 when 15% discount
A) 50 Km / hour B) 80 Km / hour was allowed. Then the marked price of the radio was ?
50 . wfer sfer 80 Rt sy s miﬁa’rﬂﬁﬁrwls%aﬁ?’f*mﬂﬁmﬁ
c .
’32;“’,;";;; | D)60 Km / hour YRl a7 3ifabeT e T AT 0115
E T 6l i
0 Re.#r wiy eer A)Z 400 BJT 300 (0,5 L
C)T 350 D)3 275 %
. \
N-2062/12371(10) -
pP.T.0
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wul Aptitude 4254610
AR2017-422=——— ;ostion Nos.39 to 40
b

35) The unit's digit of the number 6256 - 4256 jg . :
' F&ar 39 F A0 TH

Foar 62 - 4256 ST YAT 3T FAT L7
; The pie- diagram shows the
1 : actions/ . .
A) B)4 D’re‘;diture incu rred on the printing ofa boqk by a
C‘LO D)7 ezz?isher under various heads. Study the pie-diagram
p ’ i
and answer

36) Ram's in.come is 100 more than that of Shyam. If the
average income of Ram and Shyam is Z850 st Bam's
income i A Ram

mﬁrmaumaﬁrm# 7100 ¥OH ¥ | Al TH
yike g i T 3T T850 & T < 3rer e
&

T 900 B)X 800
C)X 850 D) 475

37) n a college, 1/5th of the girls and 1/gth of the boys took
art in a social camp. The total number of students in the
college took part in the camp is :

ﬁ?ﬁfa‘fﬁaﬁ%agﬁm"faﬂﬂ/aasﬁ#w
amﬁﬁ?ﬁﬁtﬁmﬁmaﬁ%aﬁﬁr%aﬁm

2 e & T fAam
——gc FoRUM .
A) 13 B).Z S 39) Ifthe expenditure incurred on the printing under head A 18
der head

80 = #5000/-. Then the sum of expenditure incurred un
04 D)13 Band Dis:
i 1 o A 9§ & e T R 5000/ 7 S R I

%,sﬁaﬁérBaﬂTDameﬂﬂmﬁﬂa%r@ﬂmm

38) Each side of a square is increased by 10 %. The

percentage increase of its area 1s: LU,
wa:‘ra?rwaarﬂw%aamamrgaﬁm '
" s o g A A)Z 5780 B)X 7850
C)% 8
A“)zlo S C)R 8750 D)X 8570
o)1 D) 125 ¢ 40) The two expenditures, which together will form an angle
& ‘(b o of 1080 at the centre are :
Qb A » ; \{4_3 3 .21 e crar e &g 3 1080 T 0T FATTRN?
& W
% kb | s R
\ s Yoo ,/c,,Q rv;,% C)A&E D)B&E
6(0 07‘7 14 \le £41) A two wheeler depreciates at 20 % of its value every year
cvk VA o If present value of the same be 90000, its depreciat d
5 J/o’ value would be T36864 after: e
, 5 0| wemmmREED
Aol ¥ 30 . 2085 e e B i ) R
& X A SEHT TG |
T 3 —— HFA 390000 § 3 30 7w gifda
/j; s Z~ 26 36864 Taverer at & g 2 e
\ (f (4 A)3 years
ik B) 6 years
6a% \
C)4 years & g
43§ D)5 years /
~
N-206212371(10) | | +¢ 94 i "74/_,4 72
& T 7 '
r N ﬂ/'o
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44)

45)

46)
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B : Numerical Aptitude AR201

per annum- Then time taken for that sum is:

& af 121/2 %aﬁraﬁﬁmwwmﬁ
ﬁgamuﬁ?t?mmmm?
B)s years /ag

D)Siyears/a"ﬁ'
2

A)]chars/a‘i'

€12 years /¥
2

The price of a bicycle is marked by a trz_ader at T 1000. He
sold the bicycle allowing successive discounts of 20%,
10% and 5%. Thus the trader gained 14% then the cost
price of bicycle (in rupees) is:

o Fraa & WS Rhel T AFE T1000 3iRhe R 3tk
3T 9T 20%, 10% 3T 5% N FAF ge w939
T | 5 WK 3 Tshail & 14% T oITeT AT |

|13 e 1 AT A feheie (¥ 3) 2

A)790 B) 600

C)510 D) 560

The price of electricity has been increased by 25%. If a

person wants to keep the expenditure same, then the
percentage reduction in use of electricity should be :

e frfAa # 25% Frafgss d | AR S =aFa
T AT &F TGAT TIET § al ToraTell & SEaATel H 38
Torcter wferere HHT FHeT gl 2

A)19
C)21

B)20
D)18

A dealer marks his goods 20 % above cost price. He then

allows some discount on it and makes a profit of 8 %. The
rate of discount is:

Teh fashdl 319 ATATA W dRTd Hed W 20% 30w
Aol HPa T | AR aE AR Io e eard ik
8% ST FITST SHATT & | BT Y & 4T BeM?

A)6%
C)4%

B) 10%
»,
D) 12%

The radius of a sphere is doubled. The percentage of
increase in its surface area is?

e Tieren Y BT I A A ST | 39 IS &8
7 g 1 wiorra T gem

A) 100 B)400
C)75 D) 300
s

Y2

}Jﬁ' __'7(5(%-{'{

T AxPele

V

2

48)

49)

50)

7--4254610

A & : HeATwT ARy
‘_‘ 47) The ratio of the areag of

42) A sum was doubled with 121/ 2 % rate of simple interest,

o - two s uar: .
its diagonal than the other js? Auares one having doube

ﬁﬂ%ﬁﬂﬁﬁwm%ﬁwmﬁmﬁ
S, BT 1 3egaer g
A)3:2

Cp:1

A man travels 600 Km by train at 80 Km/h |
: our, 600

by ship at 30 Km/hour, 500 Km by aeroplane at 1:&;

Km/hour and 300 Km by car at 60 Km/hour. What is the

average speed(Km/hour) for the entire distance ?

U S ¢of gan 80 freifier sy ser frafy
600- e, STerer & 30 fereiisex wfererer $r afy
:(gﬁﬁmaﬁwmmmmamﬁ

W 500 Fraiteet AR SR ganT 60 freer
SRt i Ry 2 300 Rrlifice 1 € |50
AT & SR AT 71T Rrereir (Reetefiet wi wen)
gram 2

k
|
t
i
B)2:1 i
D)3:1 !

A)63 B)gy7 o
- \SQ(}‘b '
C) 56Z D 97 Ry
27 ’ 27 v

A man retired from his service at the age of 60. He served

for 3/ 5" years of his retirement age. He joined his job at
the age of :

Teh =gTad 60 a¥ @Y 3 A JaTiged §37 | 38 39
Jaragied g F 35 a¥ Jar A | I I
Aty R 3 7 gF

A)20 years B) 18 years
20a% 18 a¥
C) 24 years D) 36 years
249 36 9%

A man purchased 120 reams of paper at ¥ 80 per ream. He
spent T 280 on transportation, paid octroi at the rate of ‘!0
paise per ream and paid T 72 to a porter. In order to gain
8%, he must sell each ream of paper for :

e cated & T 80 ufa e & ¥ X 120 RA FES
IET | 3T TS TR T 280 W T 40 H& wiey Rav
o o g 31T 1 AR el T 72 fow | 39 8% A
1197 ST FeY & Fore sy Ry Tt et wad &
ST 19T ?

@590

C)¥ 89

B)Z 85
D)2 87.5




Part C :Genera| English

Question N
. 0s.51
g’fr’:rcsﬂ;%ﬂdséoizmae repin‘ of the sert::e???:es
orrect, Fin, ;
the sentence has an error and'b g ;ﬁ:t which part of
corresponding to the app en the circle

; ropriat, :
sentono s e from aror, isckn o o™
ponding to “No Error” option in the Aneswer

Sheet.

may have

—

51) This sponge is not able to absorbing water

A) This sponge is B) No error
C)not able to D)absorbing water.
52) I am thinking I will
o to the i
ol g market later this

A)I am thinking

C) later this afternoon

B) No error
D) T will go to the market

53) [ am too much pleased to know that you have topped
the list.
A)to know that B) you have topped the list
C)No error D) am too much pleased
54) Have you been doing what has been asks of you?
A)Have you B),been doing
C) what has been asks of D) No error
you?
55) We rejoiced at his being promoted.
A)being promoted. B) No error
C) We rejoiced D) at his
56) Kindly submit your documents to the clerk.
A)to the clerk. 9) No error
C) your documents D)Kindly submit
57) It isamost beautiful painting in the gallery-
A)ltis a most B) No error
C) beautiful painting D)in the gallery.
58) Love for ours environment is enough 10 protect
nature.
A)No error B)ours environment
C)is enough to protect D) Love for
nature.

bkt L AR2017--4254610 |
t you would call an honest man,doesn’t

59) He isnot whal

he?
11 an honest

A) He is not what B) ﬁ;;;nwould 2

C)doesn't he? o derew
60) He has not peen attending English classes s

week. .

A)He has not been B) English classes

attending’
D) No error

for oné weck

. the four and indicate it

1) Since she is @ teacher of language, one would not

expect her t0 be guilty of 2

A) solecism B) bombast
C)schism D) stanchion

62) Annaisnot popular. She has friends.
A)alittle B)a few
C)few D) little

63) Sally parked and got the car quickly.
6) out of B)on
C)in D)over

she can't drive, Anita has bought a car.

&

(A) Since B) Even though g
C) Whether or not D)Even if
65) You will have to face some practical problems when
youstart this plan.
A) prosecuting B) proscribing
C) prescribing D).executing

66)

They were worried abou
t a new ¢ i
many followers. ult which

N-2062/12371(10)

A) must be gaining B) were gaining
c "
’) was gaining D)is gaining

67) The actor died when his car turned
A)turtle

B) tortoi
C) across oo
p D) tiger
9 P‘f.a
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J’art C :General English S P
’68) A man is known the company he keeps. 77) Allin a mess. N
A)of B) by A) disturbing 8) disar
. 3 aﬂgcd
D C)negligence .
C)for )in D) dlstracting
69) He must the loans. 78) A number of people listening ¢, -
NCErt or lecy,
re,
A)repeal B)repay el B) audience
C)repeat E) receipt C)tribe D) spectator
70) The convict was on a Monday. ? ) * Question Nos.19 to 83
- Directions : A sentence Or 8 Part of the sentepg |
A)hanging B)hanged undertined. Below are given altematives to the
underlined part which may IMprove the sentence
C)hang D) hung Choose the correct alternative. In case no '
- improvement is needed choose “No Impr,
Question Nos.71 to 73 ' Rtr,
Directions : Out of the four altematives, choose the 79) How long I shall stay 15 doubtful.
one which best expresses the meaning opposite to
the given word. e A) I can stay B)I will stay
D)No im
71) Authentic C) I want to stay D) provement
80) Even at the peak of her success, Kalpana Chawla did not
A)fake B) honest forget her home or her duty towards other human, this i
C) frank D) futile evident from the fact that she distributed education of
girls in India.
72) Methodical PY -Com (&S YUJurg) A) she contribute to P) she contributed girls for
education of girls. education.
A) orderly B) flurry ) )
C)No improvement. D) she contributed to the
C)random D) crazy education of girls.
73) Polite 81) Every person was not fitted for everything.
A)rude B) rough A)is not fit at B) No improvement
C) tough D)rash C) was not fit at [(Jj is not fit for
Question Nos.74 to ?8 82) The doctor scribbled his prescription which I could not
Directions : Out of the four altematives, choose the —
one which can most appropriately substitute the e
given word(s) or sentence. A) make over B) make up
ey v C) make for D) No improvement
74) In a primitive or uncivilized state.
' 83) Neither parties deserves our help.
A)rural B)savage
C)village D) olden A)No improvement B) parties deserved
; C deserves D) parties deserve
75) Happening every year. L d )P
) Question Nos.84 to 86
A) annually B) routine Directions : Out of the four alternatives, choose the
C)timely D) season one which We&nmg of the given
word.
76) One who believes in God.
: 84) Stationery
A)pilgrim B) believer ,
: iti i ter accessories
C) theist D) worshipper A) Writing accessories B) Compu
- . .
C)Moving D) Fixed
____—-—"‘—"—'_—___—-
pP.T.0

N-2062/1
2371(10) 1
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' 85) Abhorrent ‘
A) Iregularity B)Repugnant
Admi
C) Admirable D) Uncommon
86) Innocent ¢
A) Guilt B) Bias
C) Offence D) Guiltless
Question Nos.87 to 92

Directions : Four words are given, out of which only

one word is correctl i
i y speit. Find the correctly spelt

——

AR2017--4254610

87)

? )municiple B) muneciple-

C) munecipal D) municipal
88)

¢)jouma1 B) ] omal

C)jornale D) jurnale
89)

A) license B) liscense

C)lisense D) licanse
90)

A)harrass ?)harass

C)harras D) haraas
91)

A) saperate B) separete

C.) separate D) seperate
92)

A) exhilarate B) exhelerate
S exhilerate D) exelerate
Question Nos.93 to 95
Directions : Four alternatives are given for the
idiom / Phrase underiined in the sentence- Chooseé

the alternative which best expresses the meaning of
the Idiom / Phrase.

93) The presentation by the group at the meeting passes

muster.
A)achieves to impress: B) meets required standards.
C)does not meet the D) fails to impress-

required standards.

94) All and sundry were
- asked t :
immediately. -.e to leave the village

A)some people E) all the people

: C)all the adults and elderly D) all the adults

1 95) Joe can be a loose canon sometimes.
A) one who acts without B) one who speaks without
thinking. thinking.
C) one who acts crazy. D) one who is
'd unpredictable.
Question Nos.96 to 100
Directions : Read the following passage carefully

and choose the most appropriate answer to each
question out of the four alternatives.

Passage

At times there was something inhuman about Mr. Rogers,
the Headmaster. His formidable chin fitted out in the
most formidable way, and he seemed to be always
frowning at the world ifi general. At the assembly he was
like an inspecting officer in the army; he surveyed the
gathered innocents with his crinkled eyes, and then began
his list of morning rebukes. Any hapless offender, for the
most venial offence, would be commanded to appear
before his presence in front of the gathered ranks, and
would then be subjected to a tirade of abuse that would
leave him trembling or even in tears. Mr. Rogers was
ruthless and cruel in public. "A dehydrated old sadist”
was how Mr. Jones, the chemistry master described him.
The extraordinary thing was that in private he could
be magnanimous and gentle. Any bo_yﬂgﬁs_re_a_ﬂyjn
trouble would receive a_sym athetic hearing, and went

out feeting that the burden had been hg :

96) What best describes Mr Rogers at the school

assembly?
A) ruthless and cruel B)a sensitive army officer
' C)a formidable teacher D)a genial person

97) The staff considered Mr Rogers to be 5

A)an intimidating person B)a person t0 be idolized
£)aperson without any D)a gentle and
scruples understanding person

98) "in amost intimidating way" means.

A)in a very fowl way B)in a very helpless way

in an extremely

C) in an extremely intimate 3)
frightening manner

manner
99) Another word for 'magnanimous' is:

}\) generous B)high handed

C) magnificient p)arrogant

s

1.0

Sepemarle

p.
Y
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Part C :General English

A) They came out trembling B)

(ve "7
cips Y
\ 1
gp 0 A e
' \#
? M P 4K (27
4R 4
@ @ [ & KT
L _ Sulﬂ’l -,L‘*
&e= o

100) What happened to boys who visited him in private ?

and in tears. worried than before.
; C) They echoed the They seemed relieved of
- sentiments of the staff their troubles.
members.
)
a 9
( Q9. K5
; L A
s Sy Sy
\ 4
2 6
Yy BN AT
50 N\ ?4%

They looked even more
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mﬂmm
101) In earth atmosphere, which of the

decreases with height? following Continuously

e & AR o, R G
& HIY-ATT FHT HT AR & s
A) Wind velocity
i B) Temperature
C) Pressure D) Humidity
g gar
102) Which state in India has the largest coastline?
AR H FhE T T del@r qa ) ot 32
A) Andhra Pradesh 9) Gujrat
Y wew IR
C) Tamil Nadu D) Maharashtra
affeeTg HERTSE

The Crop Development Programme of the Government of
India covers which of the following groups of commercial

crops ?

HRE TR & B [AFE FE FA & Iad
fRfET & § B affSas wadl &1 3958

‘/103)

. AR2017-.4254610

W ¥ ; ATHR AT

105) Which of the following does not belong to physical
environment?

Aratad # ¥ e wreey sifow sofator @
A8 87

; .A) Lithosphere B) Atmosphere
wre HSA argFEe
9 Hemisphere D) Hydrosphere
afreme’ SToHsT
\)05) An example of a solution of liquid in solid is:
7~ v AR & e 1 SeTEoT T 7
A)jelly B) rubber
g ®3
C) foam D) smoke

_107) Which one of the following is not correctly matched?
7 R # 3 R @@ e @ B am §2

A)Iron-ore - Kudremukh  B)Copper - Khetri

C)Manganese - Koraput D) Coal - Singreni

108) Which was the instrument that was played by Ustad
Bismillah Khan?

T 87
A) Tea, Cotton and Rubber B()Jute, Tea and Coffee 3eaTe Fafteds @ i @ aed Tt A7
T/, FIE 3R @3 e, 9 AR HE A) Sitar B) Shehnai
v
C) Cotton, Jute and D) Tea, Coffee and Spices R AT
S ar, @ 3R A C) Santoor D) Flute
104) Under the Constitution of India who are the ultimate| 109) Loss of water in plants in the form of liquid is known as:
R et 3 e & T 3 el il oY R et 67
R 5 il R A T8 A) Osmosis " B)Imbibition
A) President of India. B) Indian People. AT e
'
T C) Transpiration D) Guttation
C) Prime Minister of India. D) All elected leaders of arsdicHsie foreett aeel
HRE & T India. | .
aRa & T faaifad 110) Which memory is both static and no_n-volatlle .
a e Ay Tl 3R RN At e & ?
A)RAM B) CACHE
S sfamg O
L3650 do9s e
0§ ) p C)Sj
o O

237

gy 1245
%@

%

kL
!

-

N-2062/4 2371(10)
2l
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Part D :General Awareness
The Modi Government at the Centre has forme

d NITI

111)
AYOG by replacing which one of the following?
A TEFR & Fu d FeEd F @ o AT
¥ T aT Afa HEET & TS T 87
A) Finance Commission B) Planning Commission
faca 3w AT HEET
C) Agricultural Price D) Fiscal Commission
Commission N ECaLie] AT
- pfY Apg T
112) Poverty in India is measured through one of the following
criteria :
e 2 7YY o1 AT et e # & frE AGS
2T o ST & 2
A) number of rooms of the B) intake of the calories
residence U T
a7 FERT P FET
C) education level of the D) number of family
family members
QT & e T e weed
e
113) The Attorney General of India is appointed by the:
Tt 35 AT e Y g Py 2@ Y ST
&
A) Prime Minister B) Law Minister
FETAAA fafty =
C) President of India D) Home Minister
#Ra & gie Er el

114) Which of the following can Not act as a bleaching agent?
Pt # & Far e HifwHS &l T Bl Y

Gehedl?
A)Nitrous oxide B) Sulpher dioxide
ATSEH HiFHTSS HoP 315-HIFASS
C) Chlorine D) Hydrogen peroxide
< R gt SIS

115) Which table in an operating system contains information

AR2017--4254610

L R 11 | G

116) T.he aim of the Antyodaya Programme is -
AT FEFHH 1 o = 37
A) Uplift%ng minorities B) Eliminati
e S ing urban

C) Improving the —— .
of scheduled c:s:sdards [p :I:x?;:gl}:gm?m
FgRE Rt & ot # o wawr o
R # gur Sl B e Few

fhlch of the fol_lowiglg states has recently launched the
nnapurna .Rasm Yojna for providing quality meals t
weaker sections at subsidised rates? °

AR & & e 59 ¥ FAER 9t &=
afear siee REad & W 3Uasy & & v

1;/)

gl & JeAqull @S A OF #7572

l.\) Uttar Pradesh B) West Bengal
3eal 9er qf¥as Ferre

C)Madhya Pradesh D) Rajasthan
ALy 9 TSTETe

418) For Commercial Banks lending the Priority Sector
denotes:

arﬁr@mﬁmmﬁﬁ%ﬁﬁmﬁmm
e aiar 82

B) Small industrialists

A) Self employed
w e g T
C) Agriculture and Small D) Small farmers
scale industries o frae
iy 3% g 3ET
119) The toxic metal associated with the Minamata episode is:
AT TeaT & Fe-a faerd g F9 &2
A) cadmium B)lead
FsfaaA gra (v13)
C) mercury D) arsenic
UG yrdfas
120) The release of which of the following into ponds and
quitoes?

wells helps in controlling the mos

/ about all the open files?
oo v 3 ey e 3f @ el wrgalt 1 et 4 ¥ A ot 3 T e
T T oot & fAoT # wErE g £
A) open-file table B) open-seek table A)Crab B) Dogfish
3o S - et 3 T
C););:r:able D) open-location table C) Snail D) Gambusia B
L - S e ¥ dwgfran
N-2062/12371(10) o
14 P.T.
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! 21) Sun Yat Sen was the leader of:

Fef T AT o Al 4

A) Taiping Rebellion B) Boxer Revolt
arefio fmE | dfFeR BT

C)C P C Party D)KM T Party
CcPCuel KM T uréf

122) Abiome is:

foratA AT E?

A) A group of plants B) A delimited area
growing in a particular iR 8
area
et FATRTSE & 7 3T
aray ditif &1 THE

C) A complex of D) A collection of rare
communities plants & animals
characterised by i

géﬂ ud
distinctive climate & Cﬁiﬁ' .
vegetation S-Sl & TIE
ffrse Seag @
SereaTay arey FaT &
TR :

123) The lens of the eye is behind the:

i@ ¥ 3 R TS e g7

5) Pupil . B) Vitreous human
R faga e

C)Retina D) Optic nerve
e sitfees @4

124) Which of the following income will not be included in
national income calculation?

ﬁmﬁ%ﬁﬁﬂmmﬁmmﬁmﬁ
e A8 foham JTeem ?

A) Income ofajokerina  B)Income of a commercial
circus company artist
R S AR A FHADR
S e

E) Commission income of a D) Individual's income from
share broker sale of shares

TR A T Y R A AEE
I safFaerd 3

125) Which one of the following states is known
ag

Spices' ? '‘Garden of
RreAfarEd # ¥ R TS Y HAE
& Iy

ST 62 o
A) Kerala B) Kar[lata_ka

A FAleH
C) Gujrat D) Tamil Nadu

I GIGEDIE

26) Pillared hall i ;
126) k;l e as? s where the Buddhist monks worshipped were

ﬁﬂmmﬁﬂmm%ﬁaﬁmmw
Fla A?

p) Chaityas B)Mathas
AT a5

C) Viharas D) Stupas
L0 LEu

127) Which of the following is a semiconductor :

ErTaTRe ¥ & FT e 8

A)silver B) copper
faea GIEl

C)glass D) silicon
G R

128) Milkiness observed on passing carbon dioxide through
lime water is due to the formation of :

mmﬁw@gﬁw‘sﬁwww

ety ey & oS &Rl &2

A) Calcium carbonate B) Calcium chloride

/ feurga FEee TR FANES

C)Calcium hydroxide D) Calcium bicarbonate
FfaA oA a15-FEeT

129) Elasticity of demand of Tuxury goods is :

Frenven &1 gt YA i et 87

A) Less than one B) Infinite
& AHH yd@Ad

C)Zero D)More than one
" e & HE
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130) A system program designed to aid the programmer in
finding and correcting errors or bugs is known as:

STt 3 it Y Siep ey 3 WV A wgTAe o AT

ST 1T FACTH W1 Y FT Fect 87
.~ A)Debugger B) Evaluator
ECT steqUer
C) Corrector D) Quarantiner
I FARfRAT

131) Both the Tropic of Cancer and the Tropic of Capricon
»#  pass through:

e Y 31 A YT AT FET § A g ?
A) South America B) Asia
il 3ARE ufdrar
C) Africa D) Australia
3nhrEr sireeforar
132) Who among the following built the Golden Temple at
Amritsar?
EyrrrarR 3 & frae JAdat & ol AT sear
ar?
A) Guru Gobind Singh B) Guru Teg Bahadur
a5 Mfde T[E 9T TEIGT
C) Guru Nanak D) Guru Arjun Dev
X FATH TH ISl ad
133) Who has been elected as the new Secretary General of the
United Nations ?
FgFeT TS 1 A R FheT oo AT 87
A) Antonio Guterras B) Ban Ki-moon
< ot e -1
C) Lewis Hamilton D) Juan Manuel Santos
o5H gAeeA FIHT A3 He

134) After a shower of rain, a rainbow is seen:
/ aer £ R AT, A T e et 7

A) anywhere, irrespective of B)even in the absence of

the position of the sun the sun
1 of, & i eyl TE F AR W
SIE
C) towards the sun D) opposite the sun
g e d g fr favda far &

AR2017--4254610

WY | ; YT T

'35) WhO decide f
; S aboul the size and b i
ll I ist ‘ mem Cl‘Shlp [} the

AAURYE & 3R ve gear & X & v ai
AT E?

-.A) Lok Sabha B) Chairman of the Rajya
s T Sabha
= AT & wHIARA
9 Prime Minister D) President
BUICEE agafa

136) Varun Singh Bhati who won bronze at 2016 Rio
Paralympics Games is associated with which sports?

2016ﬁ3ﬁtmaiﬁ$ﬁa‘fﬁ$iwmsﬂaﬁm
skl id —
wﬁgaﬂwﬁm@aﬁmm

A) Badminton B) Short Put
e S ot 5
C)High Jump D) Javelin Throw
S FFT Fafee &
137) The maximum number of Mongol invasions took place
during the reign of :

Jyerenier HINTOIATS 3Tehicl RrES QT el 7 3T ?
A) Muhammad bin Tughlug B)Balban

¢ Frgewe e GITeH erae
C)Firoz Tughluq D) Alauddin Khilji
R JeTersh e et

138) Microsoft Excel is a

7 AsFEEE T T 87

A) Graphics Package B)MS Office Package
e e MS 3Hifre 3
C) Electronic Spreadsheet D) Financial Planning
7 sdacioe e Package
e T Yo

139) In the Panchayat Raj System, “the Panchayat Samiti" is
constituted at the:

ST TS ST & T WAt & e R
I 9T AT STar g2

&State level g) District level
5T T forem &
C)Block level D) Village level
R TR TH &



part D :General Awareness

—

140) Participation is an important element of every :

wfasnRTar e Aecaqet aea &2

A) Aristocratic system B) Oligarchical system
C) Democratic system D) Monarchial system
e CCES

141) The Kailasanatha Temple (Siva Temple) at Kanchipuram

containing sculptures with paintings in the inner wall, was
puilt by ?

Fivgee #F demrery AR (R #AfR) e
syl St F @i & AfEFAT FE T F, e

geTandr ur?
A)Narasimhavarman B) Ravivarman
=
C)Mahendravarman D) Devavarman
AT &g g
142) Element that is not found in blood is:
o A - e el T AT
A) chromium 9) copper
FifeaA arar
C) magnesium D)iron
i wer

i oy
143) Govind Ballabh Pancd in:

A) Jharkhand B) Uttar Pradesh.
FRES Feal wedl
C) Chhattisgarh D) Uttarakhand
[iroeiparir FERTES
144) The teeth lacking in Herbivorous animals is:
T ST STt & hher.y ety By T BT 67
A)Molar B) Canine
TaviE (g7e) teod
C) Incissor D) Premolar
e “sraraavies

145 ;
) Of the following, which one is non-contractual earning?

AR2017--4254610

W H . 9THY AT
146) Which one of the following gases releaseq
plant is used as a fuel gas ?

fm‘“bimgas
mmm#mmﬁﬁ#h

i AT $us W F A B S 3 e
”A)Ethane

B)Butane

$or e
C)Propane D) Methane

st < e

147) The title of "Gangai Kondan' was adopted by the

following Chola King:
frTaTad & & Re e T A TR & ged
R Fr A2
A) Vijayalaya B)Karikala
[CERICE] i
C)Rajarajal D)Rajendra
TSR | < W

Volt x Second is the unit of :

coulomb
de x Wb FredT FFE 8
FeH
A) Inductance B) Resistance
WHcd g
C) Capacitance D) Energy
Fenfar Far
149) Excretory organ of cockroch is:
T T HellewaTet 39T 7 el &7
A)Nephridia - B) Malpighian tubules
CLad Ferdvaft sAferr
C)Kidney D) Malpighian Corpuscles
pey Frordrett o
150) The number of players in a FEE_SEI team is
ea & ¥ P R 8 87
A)8 B)6
C)5 5 D)9 o> !
ar'l"g GX o453+

R & IR i &7 a5
A)Profit B) Interest
L =)
C)Rent
Siter D) Wage
Nonenian_ ol

u
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Part A :General Intelligence & Reasoning

W & : §TATT R uE ahafce

Question Nos.1 to 3
T g8 1 & 3%

Directions / 2% Find the odd number/ letters/ wora
from the given alternatives.

v v el # & By gaa e ¥eg gl

1)

2)

3)

4)

A)HIVW B)FGKL
C) ACDF D) TUOP
*,
A) Cricket B) Chess
e QTS
C) Football D) Hockey
\J g\fﬂ
A)23 5 B)17 %
C)13 ™ /D) 63 ®

Some equations are solved on the basis of certain
system. Find out the correct answer for the unsolved

equation on that basis.

Wmmmﬁmwgﬁﬁmmmm
IR 9 &l o 3T 10 99 7 3ok gAY

I 12 x 9 =810 and/3iR 15x 9 =513

then/ A 13 x 8 =2

A)104 B)410
C)411 D) 401
t23
tata - gl (03
W$¥A 4%1’3) 135
8 o)
1o

6)

7)

_C) 45 years

AQ201 7--6610088 hi LR R 1
5 A piece of paper is fomﬂh‘i ¥

: cut a
the question figures. From the gi%; ::;’wn below i
wer fi

indicate how it will appear when opened,  Dures,
FICa TUT Eele & a5 a8 Rh 3y a@ﬁrs\;?
s 7m? ;

Question Figure /5¥ srgfa

If' LONDON' is coded as MPOEPO. What code is
needed for 'DELHI' ?
7fz LONDON' &I H15 MPOEPO AR@ramargar

'DELHI I 38 &5 # forgr smeam?
A)DEHLI B) HLDEI
C) EFIMJ D)EFMIJ

The total age of a mother and her daughter is 60 years.
The difference between their ages is 30 years. Find out
the age of mother.

a7 3R 3T G Y T G 60 aY F| 3R L FH
& &7 3a] 30 a¥ &) AT Hr 31 AT AT
B) 55 years
5539
D) 50 years
50 I

A)40 years
40 ag

45 a§

Wiy = 60
N-P =2

—— =Y

o=y

Eeml sy




m————

part A :General Intlligence & Reasoning AQ2017--6610088 R LU 1 G L B L
part A :General ‘H

Question Nos.8 to 9 10) One or two statements are given followed by two
T AT 8 79 A% Conclusions/Assumptions, I and 1I . You have to
o ) consider the statement to be true, even if it seems to be
Directions / fAder A series is given with one term at variance from commonly known facts. You are to
missing. Out of the four alternatives, choose the decide which of the given conclusions/assumptions can
alternative that will complete the series. definitely be drawn from the given statement. Indicate
v HFFH 13T 8, 3w v vg geT & | R o )Sfﬂu:answef-
tatement:
ar RFeql # & a7 Reeq giav at g # @ 1. All Players are Singers.
A II. All Dancers are Singers.
Conclusion:
8 LT 1, 17,25, 2 I. Some Singers are Dancers.
)L II. Some Dancers are Players.
A)35 B)32
TS AT & 3Fa<g Gr v §, 5wF 3mr ar
C)34 33 w
) A frsd/ATTaT? 1& 11 W 717 § smuer Rer
9) BKS, DIT, FIU, HHV, ? ¥ B o g :
B A adt ¥ B wda 2 &) suer Mo
A)IGU B)IGX = 8, & R aw awaey F @ #la-ar AR
SNGW D)X T A FEr fsd/Arer Sren ST s )
9ot 3R F fafése ffay
L. |3t TRy o §
I1. F87Y 7cTeh I
forent :
}wmaﬁam

A) Only conclusion II JBJ,Bmh conclusions I &

follows. II follow.
e forsed 11 fased 1 3k 0 a=t
Preorar B werd #

C) Only conclusion 1 D) Neither conclusion I
follows. nor II follows.
Fae TRy | Aadrfesrd ik ad
[GETCIN 11 fevereran &

P-5085/80505(8)
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Part A :General Intelligence & Reasoning Agzoa",__ﬁa‘l 0088 ‘gi\m
4) Book : Literature :: a7
11) 1fa mirror is placed on the line MN, then which of the 1 . 919
answer figures is the right image of the given figure? s ¥ focd |
7 v ZdoT Y MN YT o) @ Sy ar & 1% el b{A) Man : Beast B) Dancer + Musician
[ 3ot & el gl e mpfer B weT AT : W.-Wﬂamn
Ferfarrr grafr C)Song : Music D) Species : Science
e : FIh TS : e
Question Figure / ¥ g - ?L \
1:3::574:7
! M 15) 21:3°: o y
| X A)97 )
D) 113 S
| o 23
| A
i e 16) Giant: Dwarf :: Genius : ? )
Rumee g Im R : FeT gfasmemen : ? =
A) Tiny B) Gentle
X % i x 22\ BT o
¢) Idiot D) Wicked
ad e

A) B Cc D
“ ; L( )’
12) Find the missing number from the given responses.

few are et & & goa @ w1 AfS
7 3 10
OO

G
42 84 140
S
N

2 17
PR 2
4-\/ C)9 D)34
\.\L Question Nos.13 to 16
A ’
‘%ﬁ ¥ JZAr 13 & 16 a%
> |Directions / A Select the related word/ letters/

number from the given alternatives.

v 717 fFeyl & & Gralera wsey Ry H&ar

g

13) TE : EATR :: SEAT : ?

A)TSEA B) TESA

S)TEAS D) TSAE

TERs

A7) Choose theAcon'ect Venn diagram which best illustrates
~"" _the relationship among Hockey, Cricket, Games.

o WY AT ST G S gieR, Bedhe, Tell & dra
i we F g

QO
@O ®

A) B C) D)
18) How many triangles are there in the given figure?
3 Il H fraa Prsr §2
A D F
H
G
B Cc E
A)16 ’B) 18
C)8 D)12

P-5085/80505(8)
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19) Which one of the given responses would be a

X e 22) 'Z' started walking straight towards South. He walked a
meaningful order of the following? distance of 15 metres and then took a left turn and
{.Cuting  2.Dish _ 3. Vegetable walked a distance of 30 metres.Then he took a right
4 Market 5. Cooking turn and walked a distance of 15 metres again. Z is
oy et 31 & i1 Aoy A o gw ersat facing which direction?

7 AT A g &2 ZﬁmmFﬁWWQﬁMﬁlsm
wE 2T dE Tl 31 R & 3 aggent 30 #ivex e R g &7
\ .
JEER S T Wi~ W’igmgiﬁﬁﬂﬂﬂmzﬁmﬁanﬁmgg
T W 8
A)1,2 4,53 B)5,3,2,1,4 v
A) North B) West &
C)3,2.5,1,4 /0)4’3’ 1’5’2 KRS qisaa . ‘r
9) South D) East 30
20) Out of the four words given, choose the word which ALt & s
cannot be formed using the letters of the following
word.
frw 1T TR Ase} A @ 9% 96 9T S Refat@a 23) r:llglsiiznfsi;v::efjgure will complete the pattern in the
9reg; & 3T&TT &1 TANT L Ag! ST ST Hehll| o7 i SearT TR S TR & STRET Y
TRANSLATION ot
A)RATIO AB)NATION )
_C) TRANSMIT D) TRANSIT Question Figure / ¥ Jrgfar

21) From the given answer figures, select the one in which
the question figure is hidden/embedded.

&Y 1S Io NPT H A 3 ook NHTA A AT
oree v agpfa AR 8

Question Figure / W i

A) -B) C) D)

Answer Figures / ST Tpierat

A) B) C)

P-5085/80505(8)
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24) Aword is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by
two classes of alphabets as in two matrices given
below. The columns and rows of Matrix I are
numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column,
e.g., 'A' can be represented by 00,44 etc., and 'X' can be
represented by 78,97 etc. Similarly, you have to
identify the set for the word PICK.

T 202 e Ueh TEAT-Tg ST SRl T
ém%ﬁaﬁﬁ#%wﬁﬁmwaﬁm
ﬁﬁvmm-wmﬁﬁamﬁa@mmﬁvm
%,ém%;hﬁﬁvmama@ﬁamm
T 3R O &y wea o H 48y 7E ¥ 3R areqg
11#5#9.33%#@3{&1@%%?31:%
Wﬁmﬁmmmaﬁmmmm
mw*ﬁ’mu\'a#oo,mma@maaﬁmar
W%Hw'x'a:}?sgnnﬁmaeﬁmmm
msﬁfﬂﬁﬁmmﬁﬁumg@(#ﬁv
HHE I UGt 3]

MATRIX-I MATRIX-IT

S =] i X0 (O
| 10111213]4]| [5T6]7[8]9
0|AIRIBICIE|[5[KIP[T LM
(L TIHIS EIR||6XW|Z MG
2| RIEHIDIS|[7 F|T[K[X[P
3,S|DIT O[C{[8 GINF|L W
4 [EB[O[RA|[o]N PIX[z/L
A)76, 66, 34, 98 B)65, 67, 43, 65

£156,76,34, 55 D) 76, 67, 34, 89

b Com IS5 foyuu p)
25) ir P denotes '+ ',Q denotes 'x', R denotes '+ and S

denotes '-', then 18Q12P4R5S6 is equal to:

AP+ FEIHE, Q x FIETF L, R '+ & §g& &
3RS ' & FIH & ar 18Q12P4R5S6 e sy
g

A)65 B)36

953 D)34

e R ked

- R S
6 = sk

(g"x‘ 2 +94+5-46

v
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part B : Numerical Aptitude

26) If '@ and 'b' are positive integers such that a2— b2= 19,

then the value of 'a'is: g0 -

o ' 3R b O Tt ot & % 2= 19,
2 'al T A TATC| aet
A)20 B)19 \: v
o 3 S

27) Afanis listed at %150/~ with a discount of 20 %. What
additional discount must be offered to the customer to
bring the net price to 2108/~ ?

Ry T A P 20% FEI /X150 fpa
& &) g Y xR Feldr & s & faae

&1 T108 81 ST?
A)15% B)5%
G)10% D)20%

28) The radius of a circle is increased by 10%. The
percentage increase of its area is:

PR e 9 ST 10% 9o &) ST ] 39 8w

¥ fraw wfora & gfg gl
8)21% B)20%
C)11% D) 10%

N & - oo sty

30) The average age of 30 students is 20
age of 20 other students is 30
total number of students is:

30 AT A 3Ee 3 20 A ¥ 3R 20 3y Tt By

ﬂ24years

years and average
years. The average age of

B) 48 years -
249§ =2
48 a§ e
C)25 years D) 50 years \ 206
2599 50 a s‘g

31) A fruit seller buys 100 kg of superior variety of

mangoes at T45 per kg and 200 kgs of inferior variety
at 740 per kg and sells all the mangoes at X435 per kg,
The profit percentage of the fruit seller is:

1S T Farsha e foREH & 100 TR, 3ma k45
9y fram, A1 X @l § AN Fo aea R S
;gnﬁm.mmo:rﬁrﬁam%raﬂaﬂm%am
o AT A T4 Ui A, G W AT AR 3W
el e T olreT wfarera Jase?

uy Mo
A2 B)12.5 L

;. aE gl L
);)s _ D)25 s

|

[
R
Lo . 3 . -
32) A certain number of men complete a piece of work in

60 days. If there were 8 men more, the work can be

finished in 10 days less. The number of men originally
is:

Fo e T FH F 60 R A e aa F afey

29) If the ratio of areas of two circles is 4 : 9, then the ratio 3 1 O 8 ey AR o ferw S i ag 10
of their circumference will be:
T T TRT Y Weell )| SIST Al ey e
A & gear & SYTThel T HeIITd 4 : 9 &Y, Y Iereh i = i i b
i \ Y ST AT A2 w68 = (X48) Y
AT FATST 2
A)32 _Bj40  eM = SAdN=
A)4:9 _By2:3 : i
C)36 -
c)3:2 D)9: 4 ) & g = Wb
33) The simple interest on a sum for 5 years is 3(5 th of
the sum. The rate of interest per annum is:
7 el oflr o1 5 9 & T |ruRor s sE o
ab s P afioy /5 ¥ ¥ srer o ww
A)121 % B)10% n'—-‘ S
%LFE SN RS2 pemw ) B 3
R - & 2 VEPARS _0)12% D)8% I &
A A
ot
\§® .fjﬂté/ 36 \{S;P .
P-5085/80505(3) A o Y
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34) A shopkeeper sold a TV set for 17940 with a dlsio‘i';
0f 8% and earned a profit of 19.6%. What should ha

been the percentage of profit earned if no discount was
offered?

R gFeER o @8 &rdr. sy el 2
17940 T T W 3/ U IQ 19.6% H AT
B3N AR 38 &d. w AE wekd o & 7

a3 AN widera amer B3 grar?
A)23.07% B)24.6%
C)24.05%, D)24%

35) At what percent above the cost price must a person

mark the price of an article so that he can enjoy 20 %
profit after allowing 20% discount?

ﬁéwﬁ;—rﬁnﬁaﬁaﬁrﬂm%mm@r
ﬁﬁ#ﬂﬁvmmiﬁmﬁ&iﬁmaﬂ‘ﬁ?m

cp o 20% FAN & & avarer o 20% @ a2
SELL  A)60% B)30 %
MEND

R L£)50% D)40 %

36) If a train maintains an average speed of 42 km per
hour, it arrives at its destination at the right time, if
however, the average speed is 40 km per hour, it
arrives 15 minutes late. Find the length of the journey?

e ¢ Yeamdr sthwaer 42 ot wfy o frarer
et aoreh ¥ o ag 3r9e) siden v o wé gE
W 9B STl §, fred afe staa arer 40 Rt ofy

T g <l 9 3ied T W 15 e v A adudr

FATST AT fohceT oot &7
/A)ZIO km B)205 km
210 T, 205 R,
C)209 km D) 200 km
209 .4 200 .5,
(}q b Y '}lw (‘jo
ﬁe‘ ; 16
&> 4 ﬂq @«{\v —

¥
MY %fkw:m:o_e
o
o
e A

A 2017--661 0088 ance of 12 km in 10 minutes. If it

wT & : HeTeT Aty

—

A train covers a dist

h post, then the |
S kes 6 seconds to pass @ telegraph po S
ta iy el
is:
of the train e 12 7. gl T A B TR
I s Sy Ve 1 6§ T et
ag el i
e AT R S e 12008 5 1L n]yy
B)90m \
(2

A)J20 ga 90 Arex 20!

120

Gim D) 140 m

Gy 140 #reX

100 #HEX

38) A sphere has a total surface area 9[Tcm? . Its volume is:
2
Fareft aiteTen T e qoord &TAthel Ollem & ar 38
e aegv ?
3
A)36TTem® B LA
3

C)_4_ Ilem?3 (p)%_ ITcm

3

@ The population of a city increases at the rate of 5% per
annum. If the present population of the city is 3,70,440.
Its population 3 years ago was:

et 2reR i SierEEaT 3 5% arfie Fr gig B
i AR Y TAATT THEEIT 3,70,440 B Y TABT

399 qg 28T Fr R Seraear °e
A)2,80,000 B) 3,60,000
A273,20,000 D) 30,000

40) :l"he least number of five digits exactly divisible by 88
is:

T 3Rt Y T Hear =i 88 | Uie: s g

A) 10088 B) 10023
C)10132 _D)10032
3% Yooo Ok ¥
ST
g i $C
Ty v o AL
wH scus Y s

e

"~

Wi e )E; &
' P.5085/80505(8) > q)g \ :

[

P.T.0

=

‘(erL:qﬂ
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part

_,_,-—-""-—'—_7
Question Nos.41 to 42
VT ST M J42T%F

pirections / @ The following bar diagram graph
depicts the sales of items (in lakhs) in a departmental
store from April to August in the current year. Study

the graph and answer the following questions using
the data prov'ded here.
fRrAfatad Y ST # RurtAred W B

m##yﬁﬂ#m%nﬁ#ﬂﬁ(%}ﬁ
Rard 7E 8 WWW#M@UWW T

EFAfaf@d w7 #T 3ol
7 5T ol

= '—//.’N
-

‘ﬂ'llllﬂ")
g

1
T

saLEs /TOBY (i Lakhs /
3 & & 8

APRIL MAY JUNE JULY AUGUST
aw w§ G JaO§ WRA

41) The sales in July is how many times to sales in May?
TS e 4 g T 7 T 4 S oY R
HF

A)300 B e ?":‘
P e
C)25 }) 2
42) The average monthly sale (in lakhs) is: $60
T AR R @ g ?3 -
o 6
A) 600 B) 780 (. &%
C) 650 B)720 o8
5
q2°

arore =¥ &

| - x
sgesys = IR

43) A lit'Te of water weighs a kilogram, a litre of another
llqtllld weighs 1.340 kilograms. A mixture of the two
weighs 1.270 kilograms per litre. The ratio of their
volumes in a litre of the mixture is:

e Tk et &7 agtet T Teheltans § 3R v foe

T 3o G0 FI et 1.340 Fhetana & afe 351 =t

Y e T SITw aY 3 AT & a9 1.270

63T, ST FareT &Y e &) ueh foreX fRsor 3 3o
AL &l AT TABT? 1600 t'}}f'

-
D)7:17 {»\"P

44) Amerchant buys 20 kgs of a variety of rice at T14 per
kg and another 40 kgs of rice at T10 per kg. He mixes

them and sells 1/3 of the mixture at ¥12.50 per kg. At
what rate should he sell the remaining mixture so as to
carn a profit of 25% on the whole outlay?

1S caraTdy e e & 20 .3, Frad 314 9fd
%.m.@ramaﬁrwmwmoﬁﬁm
miloqﬁfﬁ?.m.ﬁatwaﬂm%aﬂtﬁ‘
Covem &t &) 3 /3 smaT g 212,50 WY R HY
2T 9% Trar & AW AT aE FE e WA R 3 W
FFqUT IR W 25% I S &7

A)T12/- BIT15/-

D)Z13/-

C)17:24

C)%12.50/-

45) A man sells an article ata loss of 10%. If he had sold it
for 275 more he would have gained 20%. The cost
price of the article is (in Rs.):

S safa S TEG 10% BTN TR S 8] AT 3FA
39Z75 3HEreR O & BT T 3H 20% T3 el

aeg 1 HT AT (T91 H) AT
A)225 B)300
50 D)15
£Fr2 ) 150 90\_’&15
.\'3;3_\-‘_?__ R16° no = 455‘9

QU ' %j""'

20Ky Q20T

(.\—;16_’_.?"? 3000 A YOR 10 4 Yoo &
: 40 - o) [$ad
S 3689 G[ _&‘kggr
/“\‘(#31‘;'& # ‘M)J'L] 2\”’0 é—‘ﬁ( PT.O .?;—o
P-5085/80505(8) W =8 ALY &%° x[LSE LS ©

£ oard v RS

6=
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46) A person spends 25% of his annual income on house
rent, 15% on education of children and 45% on other

items. If he saves ¥14,400 annually, then the person's
total income is:

IS T 39+ AT 3 7 259 ST WE |
fFT Oy, 15% 1T et Ay Rvet 9x 3T 459 ST
mnﬁwaﬁm%,u%aﬁaﬁﬁm,maﬁr

aaam%a’rmaﬁrgrﬂmamw
A)398,000 B)Z1,00,000
C)%96,000

/D)?l,ZO,GOO

47) The sum of the present a;

ges of father and son is 90
years. 10 years earlier the ratio of their ages was 5 ; 2.
The present age of the father is:

ﬁ?@hﬁﬁrﬁhgﬁﬁaﬁﬂmaﬂgwm%m‘ralo
a&ﬁmﬁmﬁs:zwmma‘rﬁmﬁ
THTA I TS

A)65 B) 68

C) 70 _D)60

48) A can do a piece of work i

How long will they take t
working together?

AMmaﬂs_ﬁaﬁwmﬁmBmm

ﬁr4ﬁaﬁwm%ma‘a‘mmw3vm$}
fhaet Rt & g 0

A) 32 ) 22
9 9

C) 41
3

n S days and B in 4 days.
0 do the same work when

D)9

49) 1/2 ofA=2/5 of B= 1/3 of C,thenA:B: Cis:

R 20fA=2/50rB=1/4 of C,&a A:B:C

- L
50) Of the three numbers, the first is twice (he second, and
the second is twice the third . The average of the

reciprocal of the numbers is 7/ 12 . The numbers are:
mﬁwﬁﬁ#qﬁmmmffm?
ogea 1 3irad 1 [12 ¥ HEa s
A)20, 10, 5 D421
D) 16,8, 4
R 8 &
s 1S MY

s B
5

C)36, 18,9
T"’k} 5 :’toa

h_wvx“\
p o
¢ N
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Part C :General English

Question Nos.51 to 55

/ lly
i ns : Read the following passage carefu
g the most appropriate answer to each

se

gzgsig%oout of the four alternatives.
Passage

ition mountaineering could be viewed as s_;[ow and
heavy, where climbers may use pmter.s, pack animals,
glacier airplanes, cooks, multiple carries between camps,
usage of fixed lines, etc. Expecliitlon mouqtameers still
employ the skill sets of the alpine mountaineer, except they
have to deal with even higher altitudes, expanded time

scale, longer routes, foreign logistics, more severe Yveather,
and additional skills unique fo expeditionary clml'lbmg. 'ﬂl1e
revalence of expedition-style climbing in tht? Hl.malaya is
largely a function of the 1 the nature of the mountains in the
region. Because Himalayan base camps can take days or
weeks to trek to, and Himalayan mountains can take weeks
or perhaps even months to climb, a large number of. )
rsonnel and amount of supplies are necessary. This is
- {why expedition-style climbing is frequently used on large
and isolated peaks in the Himalaya. In,Europe and North
America there is less of a need for expedition-style

climbing on most medium-sized mountains. These

mountains can often be easily accessed by car or air, are at

Exped

a lower altitude and can be climbed in a shorter time scale.

§1) Which of the following is true?

a
A) Expeditionary JBIMost medium-sized
climbing is popular in peaks in Europe are
the Americans. accessed by car or air.

C)Himalayan base camp D) European and North
treks can be completed American mountains
in a day or two. require expanded time

scale for climbing.

52) What necessitates the huge amount of supplies
and large number of personnel in Himalayan
expeditions?

A) foreign logistics B) low altitudes

’9 cxpanded time scale  D)severe weather
* condition

53) Which of the following style of mountaineering is
considered to be slow and heavy?

A) sports mountaineering _B) expedition
mountaineering

C)alpine mountaineering D) Himalayan
mountaineering

54) What accounts for the greater prevalence of
expedition mountaineering in the Himalayas?

A) glacier airplanes B) the severe weather
congition

‘gthe specific nature of D) multiple carries
mountains between camps

55) Which of the following is best undertaken as
expedition mountaineering?

A) medium-sized j) short time scale
mountains mountaineering

C)peaks in Europe and D) large and isolated
North America peaks

Question Nos.56 to 58
Directions : Four alternatives are given for the
Idiom/Phrase underlined in the sentence. Choose the

aiternative which best expresses the meaning of the
Idiom/Phrase.

56) John was as good as his word and came on time for the
< meeting.

A)convincing _B) punctual
C) able to fulfill his D) a promising young
promise man

57) He came to work looking very off colour.
A)tired B) unhappy
-

C)worried D)ill

58) I was asked to take a hike for a comment I made.

’A) be quiet B) think
C) leave D) take a break
Question Nos.59 to 68

Directions : Sentences given with blank to be filled in

with appropriate word(s). Four alternatives are

suggested for each question. Choose the most

appropriate alternative out of the four and indicate it

gjf() b!atckening the corresponding circle in the Answer
eet.

(#p-cnfsschrn]

P-5085/80505(8)
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59 i
) As soon as this workshop is over, I am going to

_____every duty and go qn.a holiday
A)sidet .
) sidetrack ,B)abandon
|
C) overthrow D) close down
60) She : great pleasure and satisfaction from
cooking.
A) wants B) has
L) draws _D)derives
61) Poetryisa form of expression in which the

particularity of the word and the image 10 evoke
feeling, assumes great importance.

A) suppressed B) patronized

Q) compressed D) digressed

62) He was so filled with contempt for the prisoner

that he gave him a look.
b5 humiliated B) derisive

C) pitying D) hurtful

@ Next summer we're g0ing a trip to Canada.

A)to /B) for

D)over

C)on
>

64) Romeo and Juliet's affair is probably the
most loved of all times.

A) secret ?) covert
C) candid D) clandestine
65) The  towardsthe school was very steep.
Ajyascend B)ascent 2
C)assent D) accent
o
66) Some interesting matters _____ in our discussion

yesterday.

A) came up B) got up

C)came in D) came about

AQ2017--6610088 —

T T : WA 3ok

of cotton on the truck.

/B-) bales

D) bundles

67) He loadedthe
A) baskets
C) bunches

68) Anything is which is not against the nature

of things.

A) practicable B) parable

C) probable D) possible
Question Nos.69 to 73

ence or a part of the sentence is
; re given alternatives to the

art which may improve the sentence.
Choose the correct alternative. In casé no

—

improvement is needed choose “No Improvement’.

69) There are schools in either sides of the road.

ool on either sidesyy B)No improvement

9) schools on-either side.

A)sch <

C)school on either side

70) Many years have passed since India became free.

A)No improvement B) has became free

X) had became free D) become free

71) We acted your instructions.

A)acted over your ‘P) acted upon your

C) No improvement D) acted your very

72) Assoonas I called her, she came out of her house.

A)is coming out _B)No improvement

C) come out D) has come out

73) Coding is nothing but putting up information in a given

format.
_A)filling up B) No improvement
C) organising D) putting in

P-5085/80505(8)
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il T maw
part C Wﬁj—;‘;nﬁﬁes — B1) Al the g
. e part 0 § € girls students ar i
mrecﬂ"fa‘,fé’g}eﬁa Find out whrc;z pagc ?; a mecting posiivel © advised to attenq ghe
nd som! and blacken the circie
:entence has an 9:0; propriate correct option. If a A) attend the meeting B)Nq erro,
ding to the ap irc sitivel )
comesPOm L trom error, blacken the circle positively.
is b | :
jg?,;e:pcgndmg to “No Error” option in the Answer LY All the girls students D) are advised 1o
sheet for a while?
intain si e for a while! ;
@ Could you please maintain silenc 82) The tl’lllief had hardly put the cash in his pocket
. : then the owner woke up.
A)please maintain silence  B) for a while? =
})NO error B) The thief had hardly
Could you D) No error ;
9 C) then the owner woke D) put the cash in his
. . up. pocket
75) She hopes to become an engineer after she will
complete her education. 83) Bengal tigers are now almost extincted, ——
A)an engineer after she _B) will complete her
education. A) Bengal tigers B)are now
C) She hopes to become D) No error C)almost extincted. D) No error
76) Kindly please direct the tourists to the museum. Question Nos.84 to 86
_ P Directions : Out of the four alternatives, choose the
A)Kindly please B)direc one which best expresses the meaning opposite to
— D) No error the given word.
@ If you stand with me in hour of need, 1 will never
forget you. @D scatter
A)No error B)I will never forget you.
A)store B)pile
C)If you stand P) with me in hour of
need, 9 hoard D) collect
78) At last he married with a poor girl. 85) peak
A) At last B) he married A) inferior B)deep
C)No error P) with a poor girl. C)mount B) bpttom
79 .
) Our team played a football match. 86) despair
A)played B) Our team _A)hope B) sorrow
C)a football match, P)No error C) repair D) empty
80) %t _is better to stay at home than go to market when
1t 1S raining,
A)when it s raining, B) No error
) itoll;:e“er to stay at B) than go to market
————‘-_-—__-‘_—
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.6 i dead.
Question Nos.87 to 89 93) One whose e
Directions : Out of the four alternatives, choose the P B) spinster
one whig| ses the meaning of the given Aywict
id
word. | C) bachelor D) widow
94) That cannot be explained.
@ Exactly Ayintolerable B) inexplicit
A) Different LB) Precisely C) irrevocable -P) inexplicable
C) Similar D) Same
) ) Question Nos.95 to 100 :
. iven, out of which only
irections : Four words are givew,
88) Answer f,’,,e word is correctly spel. Find the correctly speit
rd.
A) Response B) Speak [
-
C) Question D) React
89) Pain 95)
A) Comfort B) Vibration A)hiar B)hics
C) Ache D) Throb C)heir D istie
f
Question Nos.90 fo 94
Directions : Out of the four alternatives, choose the , ey
one which can most appropriately substitute the given A) milenium ’ 'B_)'mnllennmm o
word(s) or sentence.
C) milennium\ 9{millenium
97)
90) The centre of attraction.
A) hygene B) higene
A)cynosure B) focus
9) hygiene D) higiene
C) custodian D) point
98)
91) The murder of one's father. -
’A) government B) goverment
'5) patricide B) homicide
C) guvernment D) goverrment
C) fratricide D)regicide
99)
92) Overturn in water.
A)skeem
A) drown B)swim ) B) scheme
C)skeme
C) wreck D) capsize D) sceme
-
P.T.O

P-5085/80505(8) 14
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Ttk ded e d ek 106) A is a program that interprets and displays Web,
Part D :General A Pages
£antD :General Awareness )
wareness Wmmmgmaamﬂﬁaﬂﬁwmh
LU L LS G
101) Amrita Shergil was a famous i & B) Browser
I R v v o A) Server
: e it
ﬁsmger B) dancer D) Link
T o C) Website ) -
- T
C)actress D) painter
M ECE ICECTEY 07) Katherine Espin who won the crown of 2016 Miss
1) Earth belongs to which country?
102) The highest plateau of India is the: e 3797 2016 FHT AT Siicter arelt AN wie g
R T HaTd el TR Hll-AT 87 rer T E?
A) Chota Nagpur B)Malwa A) Columbia B) Phillipines
BT AR Ao et e =g
C) Ladakh D) Deccan C) Ecuador D) Venezuela
e g sFaER Fergeen
103) Which of the following elicits the Public opinion on a 108) The State with largest gap in male and female lteracy
Bill? - :
et FreYs W RrfafRa & e fore St o TE AT /IERCT 7 Hallfiieh e arell sy
A) Refer‘endum B)Recall - }Kﬁjasthan 5 B) Kerala
Ad 998 HegTEdTe] : .
[T e
isci D) Initiative
,E) P[eblSClt(.? ; C) Uttar Pradesh D) Madhya Pradesh
STeHAd I8 qEel
Feok wel ALY waer
104) Biogas is formed through :
ARy e &S ST &7 109) The law of demand states that when :
AT 7 fTH Fgar s o o
A)Fermentation B)Reduction
vae FFFOT A) ‘ijncomri’ apd price rises B} grice rises demand
emand rises. rises.
C) Aerobic ;:s;:atmn 9) Oxidation gy o rE A WA Fi
; ar w8y e B gy
105) Hepatitis is a disease of the:
FeEfey e farlr C fll;l:: falls demand D) :;:eosme rises demand
A)gKai;lney B)Liver g Rt aramr 3 g & A AT
Tpd
TG & agr el
C)Heart D)Eyes
&g ke

P-5085/80505(8)
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ol Awareness
0 .Gen® form cooling of hot iron in its metallurgy
, and un!
Slow "
110) N m as. s
is know 1 7 Y 78 FH e B R
]
¥ B)annealin
A chilling yann &
e GISIENIRE]
) quenching 9) tempering
Ko SSaN
1) Fraternity means:
dga w AT FE?
A) Unity and Integrity B) Elimination of
T T NEEAT Economic Justice
F =
Trei)
C) Fatherly treatment D) Spirit of brotherhood
-
Rarger R SN H s
112) The Pallava dynasty had their capital at:
Teod TS T o HA [T gt T
A)Kancheepuram - B) Vengi
s e - &h
* .C)Madurai - D) Thanjavur
X SELESY
113) India signed the 'Paris Agreement' on 'Climatic Change'
in April 2016 at:
AR = I 2016 F SeAarg TRESH W IR
HAS I g gEaEw
A)New Delhi B) Geneva
a$ e ST
C)New-York D) Paris
i Lice:)

mﬂﬁrwmﬁmﬁ@aﬁ

ST I o
&
A) Sh'alimar Bagh, j) Rock garden
Srinagar Chandigarh
WAAR a9, s T e, g
C) Vrindavan Garden, D) Hanging garden,
Mysore Mumbai

115) Which of the following sultans adopted Persian
customs and manners in court:

ﬁmﬁﬁﬁaﬁ#mw#mﬁmﬂ%
Rarsit # srmmar

A) Iitutmish B)Jalaluddin Khilji
eaar ECIEACRER)

C)Balban D) Alauddin Khilji
SolaeT IOSE et

116) Who convened the 'Congress of Vienna', 1815?
Tree =i 3w Rvar, 1815 &7 3maiee fsam

A) Bismarck B)Mussolini
~ R T
C)Metternich D) Napoleon Bonaparte
i Ao Aerare

117) In the context of alternative sources of energy, ethanol
as a viable bio-fuel can be obtained from:

ol & AT welt & west o s dha. S &

T H ST FERY o fr 51T w7
A)Potato B) Wheat

3T LU
S) Sugarcane D)Rice

el BICEE

118) Buland Darwaza is located in which fort?

Fole, glaran [ el 7 fRua &2

A)Red Fort at Agra B)Red Fort at Delhi
PR A AT fee el # wirer fe

C) Fateh Pur Sikri D) Hawa Mahal
elg g Al eI
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119) Distant objects can be seen with the help of ?

R TEGU R e @ 2w S EwA
A) spectroscope 9 telescope
e eforer
C) microscope D) cronometer
ATSHIFHIT Far #HieX
@ Which country will host the under-17 FIFA World Cup
in 20177
AT 87 2017 & 317 Frew Tos F Y Ararl
HLM
A) Germany B) Brazil
S TSI
C)india D) Spain
m Fq?f

121) When all inputs are doubled and as a result, output also
doubles then we have :

S e e g 8 oI &, 3R R ¥

o st g @Y T &, AT G FEAE o0

A) Increasing returns to B) Constant returns to
scale. scale.

A TRTA A R i 4 &
L F AR HFAR &

C) Decreasing returns to D) None of the options.
il Ry arw Faemenlt # &
FIEAT STl JaTe A
& AT &

122) Two gaseous molecules can react only when they have
same .
&Y Il 3oy T B TR TR Y T 67
A)energy B) entropy
= wgrdr
C) Free ene i : :
,Wm?fs}’ /IJj.ft;r::(r:atlon / steric
Ffofa=ara / R
Earen

W X : GTAT Al
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t the following is the Vice-Chairman of

5
123) Who among N NITI AAYOG?

the newly form
epafEe & A F 7 arfea ey AT H
Iq-3ETaT &
7~ rvind Panagariya BfA B. Bhattacharya
; p)B.V.Kamath . e~
C)K.G. Vaidya " g
b 2 ada O
] h Centre is located at:
) Himalayan Forest Research (¢
ReaTer e @ ¥ Tl U 8?
}{Dehradun B) Bhutan
gENTGel K
C) Srinagar /D) Shimla
HATR Ry
125) Brown ring test is used for the detectionof ____.
$37 aeTg TOETOT feaeRT aaT Y & fore femam e
&
A) sulphate ﬁ chlorate
C) phosphate D) nitrate
HIERT AT
126) The element involved with blood clotting is:
T & STAe O TG ded HleA-H1 67
A)Iron B) Phosphorus
olig " BERRE
C) Sodium D) Calcium
afsaw ¥ery
127) Through which states does the river Chambal flow?
YFIT G Tt TST # BT Sl 87
A)MP, Gujrat, UP _B)UP, MP, Rajasthan
A, PRI, 3H. 39, 7., T
C)Gujrat, MP, UP, Bihar D) Rajasthan, MP, Bihar
ORI, AH, 3.9, TAEUH, AN, WER

fEr
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d door is an example of:

g8) A hinge
= e AT T SaTET &7
A)First order lever B) Third order lever
yorA FH AT T A e
C) Cantilever D) Second order lever
Fdehat zfd A
129) The sub-marine of Indian Navy is:
Sy AT Py T A T E?
A)INS Virat ‘B)-INS Vi@l
INS foxre INS fashicT
C)INS Sindhurakshak D) INS Rajali
INS foeers INS TSl

130) Stories of Buddha's birth and his previous lives are
contained in:

% & oA 3 30 ud SeA i wgrfaa ras
Hhferd &2

A) Tripitakas B) Jataka tales

“ s ST YT

C) Panchatantra tales D) Triratnas
e

b

131) The basis for determining the dearness allowance of
employees in India is:

SR H FHAARA &5 FEIE $1ed & Fefivor 7 3R

FTE?
A) National Income. B) Consumer Price Index.
TS 3y 3UHIFA Ao g
IR
C)Per capita income. D) Standard of living.
9fe =afFT g TEA-HeeT &l TAT

W ¥ 2 AT STl

132) In winter, at the time of hibernation, Toads maintain

breathing through:

et 3, Afraferer & wovar, e v fmerdy s
oA 87

A) Both by Skin and B) Skin
Lugs )
ad Ud %t gt
¥
C)Lungs D) Buccal cavity
133) The objective of Sangam Yojana of the government is:
WEHR T WA Al F 327 #4137
To ensure welfare of  B)To unite various Hindu

handicaps & disables. groups
et v Rzt R R agta
FI el GARTT HITfST &),

T
C) To make Ganga water D) To make Sangam
pollution free, region of Allahabad
I F IT Y YeHoT more attractive for
tourists.
| SO & G 8
& gyt & faw
A8 3THSF S
134) Does the President of India have veto power?
T R & Tsguial i ferdenfowr §2
A)No B) The Consti!utiun is
8t silent on this. .
T AR # |iaue &
o A fET g
C) Only for money bills D) Y_CS
Faer e YIS F &
faT

135) The consumer is compared to a king under?

srsiverT 48 el R et T & A el &2

vB)*ICfixed Economy

A) Communism

A RfAa nieaaer
C) C;apitalism D) Socialism
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136) The term Renaissance means:

SO 2reg; T 3 FATE?
A) The Golden Age e Era of Religious
ot o Reforms
s GURT &1 T
The Dark Age D) The Age of Reason,
. ; " ¢ Enlightenment &
al Discoveries
T, Vet Ud et
el

137) Which type of function does the analytical engine

perform?

8 T189 T S (function) FRReoTeH® Sait

frsares Far

A) Logical functions B) Arithmetic functions
afFe R aifordT F

C) Control functions D) Relational functions
@ior et AR FE

@ Which one of the following is a land locked country?

AERRT AT i em stk
A)Russia B) Austria

- - g
C)India D) China

A L e

139) Area which supports the economy and export trade of a
sea port is called its:

o & ox el sy dietame % ey s il

ey RAT S & 3T F w0

A) economic zone B) export basin
I & e afae

C)umland 9) hinter land
afeR #elr e

.. S
140) In an inflationary situation, which of the following
statements is false for a country?

s B Y 3, PrerfoRre # 3wy
FHUA R & & GO A AT &7
A) Cost of living rises. B) Profits rise faster than
m ﬁa‘rg m aa Wages.
ol & o= F
S A & a ¥
C)Value of money falls.  D)Country's export's
: HHFTT become more
st =T grer competitive.
8l & & Trfa s
gfereadl & a §

141) Which one of the following statement is True regarding
rate of interest:

ST el & dey 7 PAfea & @ sis-ar
HUA T B

A) Rate of interest may be B) Rate of interest

zero. increases with
ST &3 T & economic growth.
T &3 3=
Hehell g o
T & |1y Tt )
C)Rate of interest can not D) Rate of interest cannot
#~ be zero. be determined.
ST &X Y Aar &y ST X & [T
el g e fonar ST
142) Which of the following is an example of direct
democracy?
AR 3% & o vy sheais @7 samEROT Ry
A Village Panchayat B) Gram Sabha
TH YaEg TH FqH
C) District Panchayat D) Nagar Panchayat
e garaa TR dEEg

143) Who among the follow
winner?

TR o & o7 3ot e Rrorar g &7
A)K. Malleshwari
&. Aveready

ing not an olympics medal

B) Abhinav Bindra

P-5085/80505(8)

yihag e
~})-Jwala Gutta D) Mary Kom
FRIET g A #A



-

A
) .general Awareness Q
part —— -
omata are present I the:

2017--6610088

144) Water st
ST
2)Ventral surface of Leaf B

qed ¥ FER 8T

et At & €7
) Leaf margin
qut At

D) Dorsal surface of Leaf

i ot & T 8

Rt

145) A person suffering from long sightedness wears
spectacles having:
o e 2 e AT < gl 87

B) Concave convex lens

A) Convex lenses
3aad Sead o F &

ool AW F

C) Lenses with negative ) Concave lenses
pawer Jaad AW F
R e F oW F

Preamble to the Constitution by:

@ The words socialist and secular were inserted in the
HfaeTe B 32 R & FATSERY iy gy ARaET Ueg

e gaT Sirs
A) The 16" Amendment B) The 42" Amendment
16 & FeMesT 42 § g
e 44" Amendment D) The 7" Amendment
44 § HaHT 7§ e

147) A pressure cooker reduces cooking time because:

R HHT A AT T T TAT HA AT 8T A
&2

A) the boiling point of the B} it absorbs more heat
water inside is from its flame.

elevated. g YA FaTeT e 3
STeT T Tl FaUATH ST & 30T AT
G AT 8? e

C) the higher pressure D) the heat is more evenly
tenderises the food. distributed.
JTdeR g1 HYste Y 3T 310 JAT &9
HATIH &l &l ] ¥ RaRa gt 8]

ST Y : ST Sy

148) A Computer that keeps co
requests is known as

wwﬁwm%mmﬂm

Pies of responses and recent

‘ WA & AR M & Ry Sorar s
A)Mai
) ﬁ;{ﬁg;ver j)P\l:oxy i:;v_:r
C)Server D) Web Server
- a TR

149) Arilla;ea reserved for the protection of the wildlife is
called:

Ty Sl % HTET0T o AT 3BT 87 # = Fey
&

}) Sanctuary B) National Park
T o R IH
C) Zoological Park D) Reserved Forest
wroft e IR &

150) The largest part of our brain is:

FHAN AT 7 A8 T3 ear HleA-ar 87

A) Hypothalamous B) Medulla oblongata
HERIATH Ao Htewiver

C) Cerebellum P}Cerebrum
FegATETSH . ARAS

2SC  Fopum
Com ’sjdofuuh
T o e




